
Sturleiit Exam No:

2Ctr1S1 ELEMENTS OF CI\'TL ENGINEERING

Max Marks: 60
Max Time: 3 Hours

lilffffiur,*n p$per has two sections. Atteurpt each section in separate answer

books.
(2) Figures on right indicatc myks

(3}Bepreciseu*dtothepoint inansweringthedescript ivequestions.

SECTICN - I

Ql(A) Explain various branches of Civii Engineering'

iU: Define I'rme' Ii"iplain different Bpes oiiime"
OR

Ql{A}Expiaininbrlefthevariousphysicalpropert iesofcerner:t '
(B) Expiain different transportation systenis or ways'

Qz(A)Explainwithaneatsketcir thelrydroiogicaleycle.
{B}V,&ataretherequircmentsandusesofgooclaggregate?Differentiate

betlveen coarse an*l fine aggregate'
oTt'

Qz(AlEnumeratevariousprincipiesoiplamingmdbriefiyexpiainthem'
(Bi Write a short note on slump cone test of concrete'
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RricuLAR ExAmmairox Tfl- jElll

Write a short note on types of mortar'

What are the requirements of good timber?

Explain Gantt bar charts. write down its advantages and disadvantages

also,

SEqgIgN - II

Define surveying. Give the classihcation of surveying in detail'

Define the foilowing teirns:

Sur.;eying, leveiing, Scaie, Represerrt aiiv e Fiaction' Cadastral Survey'
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Q,$(A)
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OR

Write a short note on GPS and Remote sensing"

Define Scale. Explain different types of scale'

(s)
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Q5(A)

(B)

Enlist different instruments used

(20 m) with neat sketch.

in surveying. And explain metric chain (5)

of surveY. Based on (5)

ABCDEA. APPIYThe foliowing bearing was observed during the time

that calculate the interior angle for the traverse

Necessary Check also.

Define:
CheckLine,TieLine,TieStation'BaseLine'Ranging'

Differerrtiate between the prismatic and Srrveyor compass"
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Q6{A)
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Define the following terms: 
(5)

Levelling, Plumb line, Bench Mark, Mean sca levei, Reduccd Level'

The following consecutive reaclings were taken with the help of 4 m (tti

leveiing staff ancl leveling machine. The readings are 2'I5A' 2'52A' 2'225'

2 .695,2 .395,2 .685,2 .585,2 '050,2 'g5A'and2 '600 'The ins t rument is
shifted af[er 2nd, 6tr and 8th readings. Take R.L of batch mark is 80 m'

(a)Make aqage of levei book'

(b)Calculate the R'.L of each station'

(c) Apply usual checks.

Use any methods of leveling'
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